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1) Which gquestion is 27 coming to answer?

2) How does k21 explain the source that y»r is mox from 2"y at mxn?

3) What does the X1 ask on this answer?

4) What is the answer of the &723?

5) Explain the question of nm»oin on this 71°% of &27?

6) According to the answer of nao1n, why does the moR of y»n begin at mixn (and not later)?

7) What are the 2 mx» regarding y»n on 5"v?

8) What do '01n comment regarding when the n"% of ynn begins on 5"y?

9) Explain which mxn» the &ana is referring to and when it begins?

10) In the &n»92 that the X3 quotes, according to Pxynw» °27, how do we know that ynn is mox
from oo 27y?
11) (What do m»oin ask on this? )

12) According to ¥", explain how we know that "nwxai o2 x" refers to nos 27v7?

13) According to m»oin, what is the disproof we may have to this?

14) What is the proof for this from 75v?

15) 'own say that we may try to answer that it says that

16) However this is not a good answer because




17) What is the first answer of mooin (to explain why ¥"- does have a good proof)?

18) What is the second answer of nm»oin?

19) (What is the difference between these 2 answers?

)

20) What is the proof for this answer from the opinion that it is 710K to bring m271 2°771 on v"»?

21) Why is the opinion that one can bring man 271 on v"» not a question on our answer

(because it shows if it is 9nn in the end to have k17, it is 2w to cook/burn it on v"»)?

22) According to *o1 ", how do we know that "Pwin:7 01°2 X" refers to nos 29v?
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